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1. GG26 BT (HFAZAmAL)
GG26([A.Lr X ALKE, [ Y Ak, 1A%, Mk £ 1, FLA %K)
PROC GG26(REAL HX1,REAL HY1,REAL HR1,REAL HA1,REAL HN1) SAVE
DISPLOF
DEF REAL HA2
HA2=HA1+360*(HN1-1)/HN1
IF HA2<360 GOTOF LAB1
HA2=HA2-360
LAB1:
G90
G111 X=HX1Y=HY1
G90 GO01 RP=HR1 AP=HA1 M25
G03 AP=HA2 SPN=HN1-1
G01M20
M17

2. GGe8 a1 (HIHH)

GGBB( ALy X AR, [l Ly Y ARKR, [ 42, 4h s A I, 28 A 5 B L AR, 2D )

PROC GG68 (REAL HX1,REAL HY1,REAL HR1,REAL HA1,REAL HA2,REAL
HD1,REAL HQ1) SAVE DISPLOF
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DEF REAL HA3
HA3=HA1+HA2

IF HA3<360 GOTOF LAB1
HA3=HA3-360

LAB1:

G90

G111 X=HX1Y=HY1

G01 RP=HR1+HD1/2 AP=HA1 M25
GO03 AP=HA3 SPP=HQ1
G90G01M20SPP=0

M17

% GG68(100,80,50,0,90,16,2)

VR BLEEARIEE, =R O, PUB LR 4 0 i
N, RIS TR NI, POk TR,
3. GG69 1R TH#EfFF (HZA M)

GGBO(E 15 X MK L 55 Y AAKE, B2k KI5, fr 13 WL 1 4%, 2B 1)

PROC GG69 (REAL HX1,REAL HY1,REAL HL1,REAL HA1,REAL HD1,REAL
HQ1) SAVE DISPLOF

STOPRE
G90
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G111 X=HX1Y=HY1

IF HD1>0 GOTOF LAB1

GO01 RP=-HD1/2 AP=HA1 M25

GOTOF LAB2

LAB1:G01 RP=HD1/2 AP=HA1-180 M25

LAB2:G01 RP=HL1+HD1/2 AP=HA1 SPP=HQ1 M25
G90 M20SPP=0

M17

AN

T | ;
FE7 4 GG69(20,20,136,45,16,2)
H: BLREANSES HEMENRR.
4. GG76 fEH T (HZHAL
GG76(i2 il X ABHR 2 11 Y AR, LI R, A 1, > 5k)
PROC GG76(REAL HX1,REAL HY1,REAL HD1,REAL HA1,REAL HN1) SAVE
DISPLOF
DEF REAL HD2
HD2=HD1*(HN1-1)
G90X=HX1Y=HY1 M25
G111 X=HX1Y=HY1
G01 RP=HD2 AP=HA1 SPN=HN1-1
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5. GG77 B TiEf (IE ARHEL

GG77([0r X AbHw, 00 Y Abw, [ 12, 46 mA S, AL A, A5
PROC GG77 (REAL HX1,REAL HY1,REAL HR1,REAL HA2,REAL HA2,REAL

HN1) SAVE DISPLOF
DEF REAL HA3
HA3=HA1+(HN1-1)*HA2
IF HA3<360 GOTOF AA
HA3=HA3-360
AA:
G90
G111 X=HX1Y=HY1
GO01 RP=HR1 AP=HA1 M25
G03 AP=HA3 SPN=HN1-1
G01M20
M17

AN LI



SIEMENS %R 1T SINUMERIK 508 i 55 Bt 47 5 4 50

OV®
O

/ M

O

ERENGY

F£ >k GG77(100,80,50,0,30,6)

6. GG78 MBI FHEFF (MH&HEFL

GG78 (X riAbbr, Y g fAA bR, Xjfalgh, X A%, Y miEgE, Y mA%0

PROC GG78 (REAL HX1,REAL HY1,REAL HD1,REAL HN1,REAL HD2,REAL
HN2) SAVE DISPLOF

STOPRE

R11=HD1 R12=HN1 R13=HD2 R14=HN2

G90 X=HX1Y=HY1 M25 I R

R15=1 R16=R14+2 R17=R11*R12

LAB1:

G91 X=R17Y0 SPN=R12 M25------------------ WX 7 I HEL

R15=R15+1

IF R15>=R16 GOTOF LAB2

G91 X0Y=R13 M25

X=-R17 SPN=R12

R15=R15+1

IF R15>=R16 GOTOF LOOP2

G91 X0Y=R13 M25

GOTOB LAB1

LAB2:

G90M20
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M17

7. GG79 fa3hTHEFF (HHEHESL)
GG79 (X risbbr, Yl ritbbyr, X mHEE, X8, Y REeEE, Y %0
PROC GG79 (REAL HX1,REAL HY1REAL HD1,REAL HN1,REAL HD2,REAL
HN2) SAVE DISPLOF

STOPRE

R11=HD1 R12=HN1 R13=HD2 R14=HN2

G90 X=HX1Y=HY1 M25 sy SY=RLEY
R15=1 R16=R12+2 R17=R13*R14

LAB1:

G91Y=R17 X0 SPN=R14 M25------------------ WY J7 AL
R15=R15+1

IF R15>=R16 GOTOF LAB2
G91 X=R11 M15
X0Y=-R17 SPN=R14
R15=R15+1

IF R15>=R16 GOTOF LAB2
G91 X=R11 M15

GOTOB LAB1

LAB2:

G90M20

M17

GG78 1A 7L/ 15 GG79 ¥ TR I X BIAE T ITah v X it 2 Y #hJ71m b
CLESIH A TR 0 H I, A LK S, WHATRT R i fR IE.



